teach-learn secret + sign (7) timelypractice.com

1. Alexander is baking.
He uses 17 strawberries to decorate a cake and 75 strawberries to make strawberry jam.

How many strawberries does Alexander use altogether?
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2. Lena already has 37 books.
She gets given 13 books and puts them on her bookshelf.

How many books does Lena have altogether?
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3. Two buses arrive at a school at the same time.
There are 43 pupils getting off the front bus.
There are 29 pupils getting off the other bus

How many pupils are getting off the buses?
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4. Addison buys a carton of juice and a banana.
The carton of juice costs 39 p

The banana costs 55 p

Work out how much she pays for the juice and the banana altogether.
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Answers

1. 92
2. 50
3. 72

4. 94
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